Day two : Divisibility

Math Induction proof process for a given conjecture (statement):
Step 1: Show that the statement is true for an initial case, n=1.

Step 2: Assume that the statement is true for n=k where ke Z".
Step 3: Prove that the statement is true for n=k+1.

Step 4: .. The statement is true for ne Z"

Problem 1)

Using Mathematical induction, prove that P(n): n® +2n is divisible by 3 true for any neZ".
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Problem 2)

Using Mathematical induction, prove 5" —1 is evenly divisible by 4 for all n>1.
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IB Questions) Do on separate paper

1.
Use the method of mathematical induction to prove that 5" —24n—1 is divisible by
576 for ne 4" .

2
Prove, by mathematical induction, that T L2 nelN, is divisible by 5.

3 .
Using Mathematical induction, prove 10" +3-4" +5 is evenly divisible by 9 for all n>1.
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